
Multiply and Divide by 10⁻² (J)Find each product or quotient.
46 × 10⁻² = 80 × 10⁻² =
42 : 10⁻² = 98 × 10⁻² =
83 × 10⁻² = 39 : 10⁻² =
95 : 10⁻² = 32 × 10⁻² =
23 : 10⁻² = 65 : 10⁻² =
16 × 10⁻² = 43 : 10⁻² =
32 × 10⁻² = 25 : 10⁻² =
79 : 10⁻² = 26 × 10⁻² =
34 : 10⁻² = 95 : 10⁻² =
18 × 10⁻² = 43 × 10⁻² =
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Multiply and Divide by 10⁻² (J) AnswersFind each product or quotient.
46 × 10⁻² = 0,46 80 × 10⁻² = 0,8
42 : 10⁻² = 4.200 98 × 10⁻² = 0,98
83 × 10⁻² = 0,83 39 : 10⁻² = 3.900
95 : 10⁻² = 9.500 32 × 10⁻² = 0,32
23 : 10⁻² = 2.300 65 : 10⁻² = 6.500
16 × 10⁻² = 0,16 43 : 10⁻² = 4.300
32 × 10⁻² = 0,32 25 : 10⁻² = 2.500
79 : 10⁻² = 7.900 26 × 10⁻² = 0,26
34 : 10⁻² = 3.400 95 : 10⁻² = 9.500
18 × 10⁻² = 0,18 43 × 10⁻² = 0,43
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